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1f usePNN:

Scores if runNumber == 00:

bins = np.linspace(®, 1, 18)
2.1 . .
if runNumber == 02:

Expected limits LF runNumber == 81:
T T T T T T bins = np.linspace(®, 1, 50)
® . .
. Minimum: 1.44996 _ bins = . Linspace(s, 1, 100)
if runNumber == 03:
bins = np.linspace(®, 1, 200)
;Z.[) ® 1 if runNumber == 04:
bins = np.linspace(®, 1, 400)
if runNumber == @5:
bins = np.linspace(®, 1, 600)
L if runNumber == 06:
bins = np.linspace(®, 1, 800)
if runNumber == 07:
bins = np.linspace(0®, 1, 1000)
if runNumber ==
binsl = np.linspace(0, 0.3, 300) #H# binwidth = 0.001
bins2 = np.linspace(0.3, 0.7, 40) ### binwidth = 0.01
bins3 = np.linspace(0.7, 1, 300) #H# binwidth = 0.001
® bins = np.concatenate((binsl, bins2, bins3))
if runNumber ==
binsl = np.linspace(®, 0.3, 150) ### binwidth = 0.002
o . bins2 = np.linspace(0.3, 0.7, 20) ## binwidth = 0.02
bins3 = np.linspace(0.7, 1, 150) ### binwidth = 0.002
bins = np.concatenate((bins1, bins2, bins3))
L] if runNumber == 10:
binsl = np.linspace(0, 0.2, 200) #H# binwidth = 0.001
bins2 = np.linspace(0.2, 0.8, 60) ### binwidth = 0.01
bins3 = np.linspace(0.8, 1, 200) ## binwidth = 0.001
bins = np.concatenate((binsl, bins2, bins3))
if runNumber == 11:
binsl = np.linspace(®, 0.3, 300) ### binwidth = 0.001
bins2 = np.linspace(0.3, 0.7, 80) ### binwidth = 0.005
1 bins3 = np.linspace(0.7, 1, 300) ### binwidth = 0.001
bins = np.concatenate((bins1, bins2, bins3))
if runNumber == 12:
bins1l = np.linspace(0, 0.3, 300) ## binwidth =
bins2 = np.linspace(0.3, 0.7, 200) ### binwidth
1.4 L L L ' ' L L L bins3 = np.linspace(0.7, 1, 300) ### binwidth =
-2 0 2 4 6 8 10 12 14 16 bins = np.concatenate((bins1, bins2, bins3))
if runNumber == 13:
F{LJF] r1LJrT1t}E§r bins1l = np.linspace(®, 0.2, 200) ### binwidth =
bins2 = np.linspace(0.2, 0.8, 300) ## binwidth
bins3 = np.linspace(0.8, 1, 200) ### binwidth =
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